KonnuratuBHble CBOUCTBA
pacTBOpOB: HeanekTponurhbl:

BaHT - Todp: P -P./ P =N
Paynb:
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=K:m___ 1000 /M __-m, °C
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O0YyNMOCKONUSA; KPMOCKOTUSI.

BaHT - Nlodhd:
c c, ~C. o H,
C, C, C,
C,=C, C,<C, C,>C,

ABneHune ocmMmoca

P,=C RT=m___ /M Vi RT

B-Ba

ecin P, "B aTM. R= 0, 082 Ox/monb - 'K
ecJu P ‘B NMackanax R= 8,31 Mx/mons - °K



P, onpenensiercs KOHLl,eHTpaLlMeVI B
OpFaHI/I3Me BCeEX paCTBOpeHHbIX
BeLUeCTB. 3J1IeKTPOJNINTOB,
HEJJ1IeKTPOJINTOB OPraHN4YeCKoro v
HeopraHu4ecKoro

Xapaktepa, 6enkoB, nonmMcaxapuaos,
HYKIeMHOBbIX KUCIIOT.

ANEKTPOSIUTDI:

| = At [ At

K MpPakKT. K (Paynb) -

=At | At

3 MpakKT. K (Paynb)=
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BaHT — o :

=1+ LA(S-1)

[lpumep: paccuyutaTtb cTeneHb
anccouvaunm rugpokcupa HaTpus

(NaOH), ecnu B 200r. BOAbLI pacTBOPEHO
ero 8 r.,u pacTtBop 3amep3aeT npu

t = -3,26°C
J1J1st pacTBOPOB JIEKTPOJIUTOB:
At =i-K-m__-1000 /M _-m C
] 3 . p-pa L. p-ias B-Ba L. p-ias
At =i-K-m__ -1000 /M __-m C
] K I. p-pa L. p-id B-Ba I. p-1d
P0=|-CMRT=m IM -V R-T
: I. p-pa B-Ba (1)



